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 السؤال الأول: 

• 𝒇(𝒙) =
(𝐜𝐨𝐬 𝒙)−𝟏

𝒙𝟐 احسب       𝑙𝑖𝑛 𝑓(𝑥)          

𝑥 → 0 

• 𝑓(𝑥) =
sin 𝑥

√𝑥+1−1
        𝑙𝑖𝑛 𝑓(𝑥)       احسب   

𝑥 → 0 

• 𝑓(𝑥) =
(cos2 𝑥)−1

1−cos 𝑥
.lnاحسب     𝑓(𝑥)          

𝑥 → 0 

• 𝑓(𝑥) =
sin(𝑥−3)

𝑥2−7𝑥+12
.ln    احسب   𝑓(𝑥)      

  𝑥 → 3 

   السؤال الثاني:

 𝑓(𝑥) = 𝑥 +
2 cos 𝑥

𝑥2+25
برهن أن    (c)خطه البياني   Rمعرف على  

𝑌:  ∆المستقيم  = 𝑋  مقارب ل(c)   وادرس الوضع النسبي  ∞+عند

 [0,2𝜋]في المجال  ∆مع    (c)ل 

 السؤال الثالث:  

 𝒇(𝒙) = 𝑥2 − 2𝑥 + 7           (c) R 

 ∆: 𝑦 = 5𝑥 + 7 

 ∆مع    (c)ادرس الوضع النسبي ل 
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